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N & 0l & AF & E A A
20179 = 1.8 Lets A 3l A
M 3 A
M S 2 A2 (LSS /YA
©el: SR 2el (9 ® =)
£ Y -HA(S) - NRMY - BES Ofl & oH I & Hl w&z2
=)y 5,530,920 4,835,360 695,560
SIH H et (Lt S /LB H) 4,594,300 3,909, 300 685,000
SFMA 22 657,300 562,300 95,000
SR a2 657,300 562,300 95,000
201 L2l 87,300 42,300 45,000
01 At 22l 82,000 37,000 45,000
oY==t 80,000 35,000 45,000
CEFME = 2 15,000, 000& 15,000 10,000 5,000
cZFBEHI =2 35,000,000& 35,000 15,000 20,000
oZFMA LM 2 >2
30,000,000& 30,000 10,000 20,000
401 AIEHIZ 201 8] 570,000 520,000 50,000
01 A& Bl 570,000 520,000 50,000
OANSRMA2E S ESAIY 70,000,000& 70,000 20,000 50,000
A2 2] 3,435,800 2,845,800 590,000
EAMAIEE 22 1,327,800 1,317,800 10,000
401 Al I 28I 465,000 455,000 10,000
01 A& Hl 465,000 455,000 10,000
OANEA UK ESHEAL 255,000 185,000 70,000
oS4 W2a)| SWED| DAY
50,000,000& 50,000 0 50,000
SAIEBAL HZE XES e 20,000,000 20,000 0 20,000
OAEA S& Y= 50,000, 000& 50,000 0 50,000
OAEA XIGH=XE DI NgEER =&
50,000,000& 50,000 25,000 25,000
OXdFS=0UHH S Ht)| wi
20,000,000& 20,000 0 20,000
OsSNz=sxdH OSAEA WHe)| Wi
15,000, 000& 15,000 0 15,000
OS8ES HAI HABA(2HH) 0& 0 170,000 A 170,000
FEMNRXE S 1,188,000 1,153,000 35,000
405 XHoHE S HI 80,000 45,000 35,000
01 et EFHSHI 80,000 45,000 35,000
OANEAM AMRA & F H2D| 7Y
20,000,000& 20,000 10,000 10,000
Os2dsHA MAHEs PCRe 15,000, 000& 15,000 0 15,000
OAEA AIRIt2 2 10,000, 000& 10,000 0 10,000
SHES FAtzel 720,000 375,000 345,000
401 Al& Bl & 28I 715,000 370,000 345,000
01 A& HI 715,000 370,000 345,000
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SN B SR(EA) - MBAY - BES 0] &b 2 p/E-T HDE2
OANMSAIRA HAF Y A2 FHY|
150,000, 000& 150,000 0 150,000
OANESARA FE MHAZHAZ
40,000,000& 40,000 0 40,000
OAGHAR A HE = 10,000, 000& 10,000 0 10,000
O=SHARAL HE=> 40,000,000& 40,000 0 40,000
O2ALHAR A HE = 60,000,000& 60,000 0 60,000
OsNs=UHEH HE > 15,000,000& 15,000 0 15,000
OsMNss=UMdH Z208A HE=S
30,000,000& 30,000 0 30,000
SHHARA WA B2 (20165H]) 200,000 0 200,000
401 AIEHI L 20 200,000 0 200,000
01 A& HI 200,000 0 200,000
O=gHARA HAEZ 200,000, 000& 200,000 0 200,000
HAE2AZH (S H D) (JIEH/IIEL) 87,120 76,560 10,560
Jl=&l 87,120 76,560 10,560
Jl=dl 87,120 76,560 10,560
202 04 tl 73,920 63,360 10,560
01 = LH 4 HI 73,920 63,360 10,560
O2UHEF I 73,920,000& 73,920 63,360 10,560




